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The population of “Old” is exploding

The Proportion of 65+ relative to total population
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The population of “Old” is exploding

The Proportion of 65+ relative to total population
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Old Dependency Ratio is Rising

Rapidly
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The Happy Marriage is falling apart

The proportion of productive population (18+~64) relative to total adults (18+)
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And, the Old is becoming Majority, literally
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And, the Old is becoming Majority, literally
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The Regime is changing, definitely
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Recent trend
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The country we are following
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The past is repeating itself
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Impossible Trinity in an Open Economy
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* Perfect capital mobility

e Stable(fixed?) exchange rate
* Independent monetary policy
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